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Simplify

(Achieve)
[image: image37.jpg]


1) Simplify 
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4) Find the perimeter 

(Merit)  

5) Simplify: 
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Expand & Factorise

(Achieve)

Expand and simplify if possible

1)  
[image: image7.wmf](
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2) Simplify  
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3) Simplify  
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(Merit)  

5) Expand and simplify  
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6) Factorise  
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Solving Equations
(Achieve)

Solve the following

1) 
 
[image: image14.wmf]5

1

4

=

-

x






2)   
[image: image15.wmf](

)

4

1

3

2

=

+

-

x


3) 
 
[image: image16.wmf]x

x

3

17

5

14

-

=

-




4)   
[image: image17.wmf](

)

(

)

4

3

3

2

+

=

-

x

x



(Merit)  

A plumber charges according to the equation 
[image: image18.wmf]h
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 where h = hours worked

5)  The fixed charge is _________   and each hour costs __________ 

6) If the plumber charges $154.25 how long did they work for?  (show working)

(Excellence)

7) The “Ripoff” internet provider charges $48 per month and 60 cents for each minute.

     The “El-cheapo” provider charges $30 per month and 72 cents each minute on line.
How much will the monthly internet bill be if both providers cost the same amount?

(Show all working and include explanations of what you do)
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Rearranging & Solving

(Achieve)

If a = -1, b = 5 & c = 4 find:

1)  
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4) Make x the subject of 
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5) Make x the subject of 
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6) Solve  
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(Excellence)

7) A computer software company spends x money on advertising.  The company share of the software market is given by the formula
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How much should the company spend on advertising to get 
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of the market share?


(show all working)
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Solving Quadratics

(Achieve)

Solve the following:

1)  
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(Merit)  

Solve the following:

5)  
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(Excellence)

7) These two floor mats have the same area. Write this as an equation and solve to find the combined area of the two mats.
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Simultaneous equations & Inequalities

(Merit)  
Solve
1)  
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Solve simultaneously

           3)  
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4)  
[image: image36.wmf]10

2

3

15

3

4

=

+

=

+

y

x

y

x



(Excellence)  
7)  A Café sells tea and coffee. They sell tea for $1.20 per cup and coffee for $1.60 per cup. One morning they sell 28 cups of drink for a total of $37.20  
Form equations and solve (explaining the terms used) to calculate the number of cups of tea and the number of cups of coffee sold.
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